ANSWERS WAVES EXAM, FYSA13

V1 Answers

a) 1.33 m/s
b) 1.88 m/s
¢) 167 m/s>
d) 237 m/s’

V1 Solutions
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V2 Answers

a) 8600 kg/m’

const

b)f = N7 wher const = 590 s kg'? m™
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V2 Solutions
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for p = 1000 kg/m3 we obtain f = 18.707 Hz ~ 19 Hz
etc.
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V3 Answers

a) It will be 3.3% lower in Bologna.
b) Itis 0.15 dB higher in Malmé.

V3 Solutions
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V4 Answers
a) t=1.47 um
b) 4=541 nm
V4 Solutions
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V5 Answers

a) There are two minima between the principle maxima and that means there are
three slits.

b) 0.36 degrees

¢) 0.81 mW/mm?’

V5 Solutions
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